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calculator word answers

(when the calculatoris turned upside-down it should spell out a word)

3%x 52 work dead hard

23x108+9)-3 don’t find

(10-7)(10+7)  inthe middle of the mist

112(25 - 1) we live on one

2(14%) + 3(9(9 + 10)) sometimes it’s nice to have a sunny one
( or snail house on some calculators)

25108 +1) -1
_ to be or not to be?
1%

14%(25x 32-7) on doors and lips

12, 2 _ _
100 - 1824

2

( 9x13% + 3 x 62 )
4x10

go it alone
A sea worms
length AC?
2205 m
B 5202m c

area of the square inside the isosceles trapezium?

392m 392m
L] [

399 m

not more





